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Power Cables

584

Cu/XLPE/SC/PVC/ATA/PVC

il

3.6/6 kV (IEC 60502 - 2)

Nominal cross section

area of conductor

Conductor
Diamater

Conductor
Insulation
Core Screen

Conductor Screen
Insulation Screen

Additional Insulation
Screen

Core Metallic Screen
Inner Covering

A Ve all

Stranded (class 2) and compacted
Plain annealed copper wires

XLPE (cross-liked Polyethylene)

Consist of semiconductor layers
and metallic screen

Semiconductor compound applied on conductor
Semiconductor compound applied on insulation

A semiconductor tape wrapped on above layer

Copper Wires + Open Helix Copper Tape

(Bedding) Extruded PVC
Armour Aluminium Tapes
Over-Sheath Extruded PVC
R
% |
+90 °C IEC 60332-1 15x O.D Armoured

mm?

1x25rm/16

1x35rm/16

1x50rm/16

1x70rm/16

1x95rm/16

1x120rm/16

1x150rm/25

1x185rm/25

1x240rm/25

1x300rm/25

1x400rm/35

1x500rm/35

5.8

7.0

8.2

9.9

13.0

14.5

16.1

18.5

20.6

23.2

25.8
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mm mm
25 19.8
25 21.0
25 21.7
25 234
25 25.0
25 26.5
25 28.0
25 30.0
26 32.6
2.8 355
3.0 38.7
3.2 41.9
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) =
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v = = ) = -
= % =) E = o
g = £ = = 5
EE 3 = % 2
< £ =

7)) A
mm mm mm Kg/Km meter
0.5 1.8 254 949 1000
0.5 1.8 26.6 1077 1000
0.5 1.8 27.3 1222 1000
0.5 1.8 29.0 1463 500
0.5 1.9 30.8 1741 500
0.5 2.0 32.5 2033 500
0.3 2.0 34.0 2431 500
0.5 21 36.2 2834 500
0.5 21 38.8 3412 500
0.5 2.2 41.9 4085 500
0.5 24 45.5 5240 500
0.5 2.5 48.9 6291 500
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Cu/XLPE/SC/PVC/ATA/PVC
6/10 kV (IEC 60502 - 2)
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Nominal cross section = g s E 5 = g = aé = :‘ln %
area of conductor T 5 Z e bt e = = s 5 £ B
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mm’ mm mm mm mm mm mm Kg/Km meter 2L
ia)
<
1x25rm/16 5.8 3.4 211 0.5 1.8 26.7 1010 1000 (@)
g
1x35rm/16 7.0 3.4 223 0.5 1.8 27.9 1141 1000 S
>
1x50rm/16 8.2 3.4 23.5 0.5 1.9 29.3 1328 500 Q
1x70rm/16 9.9 3.4 25.2 0.5 1.9 31.0 1566 500 3
g
<
1x95rm/16 1.5 3.4 26.8 0.5 2.0 32.8 1857 500 E
—
9}
1x120rm/16 13.0 3.4 28.3 0.5 2.0 34.3 2121 1000 N
1x150rm/25 14.5 3.4 29.8 0.5 21 36.0 2549 500
1x185rm/25 16.1 3.4 31.8 0.5 21 38.0 2933 1000
1x240rm/25 18.5 3.4 34.2 0.5 22 40.6 3522 1000
1x300rm/25 20.6 3.4 36.7 0.5 2.3 43.3 4186 500
1x400rm/35 23.2 3.4 40.4 0.5 2.3 47.0 5314 500
1x500rm/35 26.3 3.4 43.5 0.5 25 50.5 6359 500

8.7/15 kV (IEC 60502 - 2)

5 » = £

55 | 55| 2 &3 E 5 =1

Nominal cross section g2 s R ? t £ = < .§ =

area of conductor e =3 2 e = § =8

SA | 5% E EE E a Z g

A = & &

mm’ mm mm mm mm mm mm Kg/Km meter
1x25rm/16 5.8 4.5 23.3 0.5 1.9 291 1115 500 "
1x35rm/16 7.0 4.5 245 0.5 1.9 30.3 1259 500 ??
1x50rm/16 8.2 4.5 257 0.5 1. SHES) 1433 500 E

1x70rm/16 9.9 4.5 274 0.5 2.0 33.4 1695 500

1x95rm/16 11.5 4.5 29.0 0.5 2.0 35.0 1978 500

1x120rm/16 13.0 4.5 30.5 0.5 21 36.7 2273 500

1x150rm/25 14.5 4.5 32.0 0.5 2. 38.2 2687 500

1x185rm/25 16.1 4.5 34.0 0.5 2.2 40.4 3099 500

1x240rm/25 18.5 4.5 36.6 0.5 23 43.2 3709 500

1x300rm/25 20.6 4.5 391 0.5 24 45.9 4385 500

1x400rm/35 232 4.5 42.4 0.5 2.5 494 5503 500

1x500rm/35 258 4.5 445 0.5 26 51.7 6513 500
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Cu/XLPE/SC/PVC/ATA/PVC
12/20 kV (IEC 60502 - 2)
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29 mm’ mm mm mm mm mm mm Kg/Km meter
i)

8 1x25rm/16 58 55 25.3 0.5 1.9 311 1214 500
=

S 1x35rm/16 7.0 5.5 26.5 0.5 2.0 32.5 1367 500
>

Q 1x50rm/16 8.2 55 27.7 0.5 2.0 33.7 1559 500

) 1x70rm/16 9.9 5.5 29.4 0.5 21 35.6 1823 500
(=
<

E 1x95rm/16 11.5 5.5 31.0 0.5 21 37.2 2111 500
S

;2 1x120rm/16 13.0 5.5 32.5 0.5 2.2 38.9 2412 500

1x150rm/25 14.5 55 34.0 0.5 2.2 40.4 2825 500

1x185rm/25 16.1 5.5 36.0 0.5 2.3 42.6 3251 500

1x240rm/25 18.5 55 38.6 0.5 2.4 45.4 3881 500

1x300rm/25 20.6 5.5 411 0.5 2.4 47.9 4535 500

1x400rm/35 23.2 5.5 446 0.5 2.5 51.6 5685 500

1x500rm/35 26.3 5.5 47.7 0.5 2.6 54.9 6730 500

18/30 kV (IEC 60502 - 2)
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Nominal cross section 2 é = E = 5 2 = ‘g = fn
e b
area of conductor T 3 2.2 2 e =2 = = § =
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S mm?* mm mm mm mm mm mm Kg/Km meter
z
£ 1x50rm/16 8.2 8.0 32.7 0.5 2.2 39.1 1877 500
1x70rm/16 9.9 8.0 34.4 0.5 2.2 40.8 2148 500
1x95rm/16 11.5 8.0 36.0 0.5 2.3 42.6 2468 500
1x120rm/16 13.0 8.0 37.7 0.5 2.3 443 2784 500
586
1x150rm/25 14.5 8.0 39.2 0.5 2.4 46.0 3230 500
1x185rm/25 16.1 8.0 41.2 0.5 2.4 48.0 3655 500
1x240rm/25 18.5 8.0 43.8 0.5 2.5 50.8 4310 500

1x300rm/25 20.6 8.0 46.3 0.5 26 53.5 5008 500



